
  

User:  jdmpx  |  Contact Us

Parts Catalog - Option Detail   

Electronic Parts Catalog - Option Detail

Option Group Graphic Film Card Date

EM1345 16.03 em106gm FF 27-AUG-99

Engines
G855, G855 CM558, GTA855 CM558 (CM2358) G101, N14 CELECT, N14 CELECT PLUS, N14 MECHANICAL, NH/NT
855, QSM11 CM876 M101, QSM11 CM876 M102M, QSN14 CM876 N103, QSN14 CM876 N105, QSNT14 CM876
N102

SMALL | MEDIUM | LARGE
 

Cart Ref No Part Number Part Description Required Remarks

View My Cart

  EM1345 Front Engine Support   

     Combination front engine

https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('em106gm','/rtgraphics/english/parts/em/1/em106gm_sm.png');
javascript:swap_img('em106gm','/rtgraphics/english/parts/em/1/em106gm_md.png');
javascript:swap_img('em106gm','/rtgraphics/english/parts/em/1/em106gm_lg.png');


     support and bell- housing for

     over running clutdh type

     front

     Power take-off.

     Does not include an adapter

     for clutch.

     Includes marine mounting feet

     with mounting surface located

     9.51inches (241.4mm) below

     crank centerline.

1 S 116 C Hexagon Head Cap Screw 11 7/16 - 20 x 3 1/2 inch

2 S 127 C Hexagon Head Cap Screw 10 5/8 - 11 X 1 3/4 Inch.

3 S 603 Lock Washer 10 5/8 in.

4 S 610 Lock Washer 13 7/16 in.

5 60408 Pin Dowel 1  

6 70653 Diamond Dowel 1  

7 103023 Hexagon Head Cap Screw 2 7/16 - 14 X 1 in.

8 3010348 Engine Support 2  

9 3010372 Power Take-Off Housing 1  

 
© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 

Terms of Use and Disclaimers  |  Recommended System Requirements 
Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

